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1. §¨43 x

x2 + y2
− i

y

x2 + y2
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2. ��Z1 ∮

|z|=2

cos z

z3
dz

3. �«43 f(z) = cos
z

z − 1
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4. �«43 f(z) =

ln z

sin πz
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5. �«©® z

d2w

dz2
+

dw

dz
− w = 0 F8¶×�YèWªP¯°
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∂2u

∂t2
− a2 ∂2u

∂x2
= 0, 0 < x < l, t > 0

∂u

∂x

∣

∣

∣

∣

x=0

=
∂u

∂x

∣

∣

∣

∣

x=l

= 0, t ≥ 0

u
∣

∣

t=0
= x,

∂u

∂t

∣

∣

∣
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t=0

= 0, 0 ≤ x ≤ l
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a 5��P± x X t ²�³P¸3´
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∇2u = 0, a < r < b, 0 < θ < π, 0 < ϕ < 2π

u
∣

∣

r=a
= 0, u|r=b = cos2 θ, 0 ≤ θ ≤ π, 0 ≤ ϕ ≤ 2π
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∂u

∂t
− κ∇2u = 0, 0 < r < a, 0 < ϕ < 2π, t > 0

u
∣

∣

r=0

×�
, u

∣

∣

r=a
= sinϕ, 0 ≤ ϕ ≤ 2π, t ≥ 0

u
∣

∣

t=0
= 0, 0 ≤ r ≤ a, 0 ≤ ϕ ≤ 2π
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Green 43 G(x, x′). º»¼





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

d2G(x, x′)

dx2
+ k2G(x, x′) = −δ(x − x′) 0 < x, x′ < ∞

G
∣
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x=0
= 0, GF x → ∞ ÷×«½¾ ¤Î±¿:ÀO e−iωt ¥
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